L g B i@

RESHEHE

VISION®
MIt$ESL | EO1

1 = miEid
1.1 g

« DN65-200

12 EiE

* GB/T 3091 (fJEyiA%iik FIRENE)

* GB/T 9163 (fanik i FH 4 NE )

* GB/T 17395 ( BAEMER~F. SE. EERAHRE)

1.3 RAXTIEEH
« ZHZA %) 5MPa
o TAERESIBT AR, BEEFIE B

1.4 ThEk
o FEEANE, ok RE 2 GB5135.11
o RACRITEERE, BR 5 EL A AL

2AIE

A | mm Hiiaf Rte/IRE
KRR N mm A
65 76.1 2.8 M10x40
80 88.9 2.8 M10x40
100 1143 2.8 M10x50
150 165.1 2.8 M12x60
200 219.1 3.8 M16x70
A | mm BATEESD | &=AERSD
YN SEPRAME Mpa N
65 76.1 25 11371
80 88.9 25 15518
100 114.3 25 25652
150 165.1 25 53521
200 219.1 25 94257

e

VISION

/s
DS-1451:1.0hR
THE RS

3 MR

3.1 Ih5E: EREB4EEL, VR GB/T 1348, M5-QT450-12

3.2 RERE (WEiE)
o EM BEERY, JH B4 RAL3000
o AR

3.3 FBHHE.

< EPDM (=JCLW) : @EATHRK HoK. S8R Bl
EHIRE-40°CE125°C

- BZEHEMR, 1FEH D

3.4 1242

« GB/T3098.1 { XE MMM ERE: 1B, BRETFEMED) , 8.8

- ESE, 48/NIFS%ILEIREE, T

3.5 128

« GB/T3098.2 (X[ M tERE: BEE) , 8%
o AEEE, 48/NES%E ERE, LaL

X Y z wE
mm mm mm kg
94 142 52.2 0.7
107 156 52.2 0.8
133 182 52.5 1.0
187 240 55.0 1.7
246 316 66.0 3.3

* EOUNRIME RS, ABEAME BT R RAK A 47 S LRE i im R BRAX

MTEERAE.

c TEEEEmAZRETIREE. RS SIS

HH A4 3 P BRI AT B AT A

- BEZHRIEEH LB



